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Instructions

Every week you have one writtertask and
one Hegarty tasks to complete.

Write the date, title and complete work in
your exercise book. Some tasks can la®nein
the booklet.

If you need to recap, use Hegarty clip
numbers printed next to eachguestion

Then complete Hegarty tasks set by your
teacher.



Week 1

WEEK 1 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer Q | Question Answer Q | Question Answer
1 2+3 1 (2x9=0 1 | 61x31
2 |89+ 11 2 |24+3=n 2 | 657 — 382
3 | What is half of 3 |10xo0=80 3 [17.2x94.2
&6?
4 | 6+0=3 4 | 0.7 as a fraction
4 1125-10
5 |1x2=n 5 | 46.15 +5.08
5 [177 +0=270
6 |28+7=n 6 | (-40) + (-4)
6 |53=23+nO
7 |axé6=54 7 |fa=4b=3andc=1,
7 | 805 -804 what is the value of
il R 3a-b2?
8 |4x1=4,504
+4=0 it i a 8 |3-(5)
9 | Write 20:12in ] i 9 | What is the highest
factor of 12
12 hour clock Total out of 10 comm?on actor o
format and 47
10 | 9:37 pm is how 10 | What is the value of 13
many minutes squared?

after 9:08 pm?

Total out of 10

Total out of 10




SESSION 2 NON-CALCULATOR

1. [Hegarty 37]
Write these numbers in order of size.
Start with the smallest number.

6 i3 9 5 4
(Total 1 mark)
2. [Hegarty 693] Change 430 centimetres into metres.
.................................. metres
(Total 1 mark)
3. [Hegarty 52] Change 0.3 into a fraction.
(Total 1 mark)
4. [Hegarty 55| Change 0.7 into a percentage.
................................. %
(Total 1 mark)
5.
Diagram NOT
accurately drawn
-4 30cm 3
A B C

+— l6cm ————mmv—pat— Yem —e

Here is a picture of a stick.
The stick is in three parts, A, B and C.

The total length of the stick is 30 cm.
The length of part Ais 16 cm.
Thelength of part Biis 9 cm.

Work out the length of part C.

(Total 2 marks)




[Hegarty 176
Jessica thinks of a number.

Shemultiplies the number by 3.
She then subtracts 7.
Her answer is 5.

What number did Jessica think of?

(Total 2 marks)

[Hegarty 340]
The total cost of these 2 pens is 60p.

Work out the total cost of 5 of these pens.

Give your answer in pounds.

(Total 3 marks)




Week 2

WEEK 2 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES -

do these in your head

TIMESTABLES -
do these in your head

KEY SKILLS - you may use written calculations

for these questions

of 272

Q | Question Answer Q | Question Answer Q | Question Answer
1 |o+6=10 il P3¢ S = D3 D5hERD)
2 | What is double 2 |10+2=o 2 |7+25+5
57
3 (8xo=8 3 12013+01
3 | Halve 63
4 |16+0=4 4 | 2.26 x 1000
4 | 26 +30
5 [8x4=n 5134-074
5 |98 +99
6 |15+3=no 6 | Write 56/72in its
6 |22+10=22+ simplest form
s 7 |ox2=12
; 7 | Difference between 4
7 |3+223 B et and -4
8 |20+61=20+ i Rttt 8 | | Value of the dot?
60+0 10|14+2=0 .
e =2 Total out of 10 0 10
10 |o+2=20
9 | What is the lowest
Total out of 10 commen multiple of 4
and 57
10 | What is the cube root

Total out of 10




SESSION 2- [Calculator]

[Hegarty 45 Write down the value of the 9 in 213.95

(Total 1 mark)

[Hegarty 46]
Write these numbers in order of size.
Start with the smallest number.

0.74 0.744 0.704 0.7 0.07

[Hegarty 158] Simplify 3 xgx5xh

(Total 1 mark)

[Hegarty 129] Work out 5.9 + 3.17

(Total 1 mark)

A petrol tank holds 48 litres of petrol when it is full.

2
\Empty FuII/

The scale showisformation about how much petrol there is in the petrol tank.

Work out the number of litres of petrol in the petrol tank.

eeéee litres

(Total 2 marks)




6. [Hegarty 401, 426]
The tally chart shows information about the numbers of text messages sent by some students

last week.
Name of student Tally Frequency
Anna U ] 24
Bhavini W 12
Cassie W
David W

() Complete the frequency column.

The pictogram shows the numbers of text messages sent by Anna and Cassie.

s

Bhavini

we |

David

(i) Complete the pictogram and the key.
(Total 5 marks)

7.  [Hegarty 829-831] Write down the name of each of these twbD 3hapes.
(1) (11)
N N\
[ " [ |
| | -
\/ \_/
(1) v, (1) v

(Total 2 marks)




Week 3

WEEK 3 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer Q | Question Answer Q | Question Answer
1 |o+13=20 1 |é6xé6=n0 1 | 2757 + 5432
2 | Double 96 2 |3+3=n 2 [42+2x4
3 |79+10 3 | 4xo=232 3 | Write Four Thousand,
Three Hundred and
4 (120-80 ] B am = bk Twenty in digits
5 |8=7+0D i |t ot 4 [5.94+10
6 [13-10=13 - 6 (45+9=n 5 | 1x(-8)
o L
7 |ox7=28

6 | Round 0.7475to 1 d.p.

7 | 85+85=85x

o ek p i o
8 | What is the Coh e i il 8 | Round 0.4559 to 2 s.f.
:g:k(?m b M| |[10]|48+8=0 9 | Letterat(-2,-2)
A Total out of 10 A B E b E
10 | 81+ =100 T L

K—t——N—F> x
Q R S T U
V—W—A—Y—F

Total out of 10

10 | 10/1 = 0/4

Total out of 10




SESSION 2- [Calculator]

=

[Hegarty 17] Write 17653 correct to the nearest 1000

2.  [Hegarty 52] Write 0.019as afraction.

(Total 1 mark)

3. [Hegarty 353]
The probability that it will rain tomorrow is 0.65
What is the probability that it wilhot rain tomorrow?

(Total 1 mark)

4. [Hegarty 823 On the grid, draw an isosceles triangle.
(Total 1 mark)
5. [Hegarty 27,33,99] Here is a list of numbers.
2 4 5 6 7 8

From the list of numbers write down
() anodd number

(i) a square number

iy amutipleofs

(iv) a factor of 10



(Total 4 marks)
[Hegarty 709
A television programme started at 35
The programme was 1 hour 20 minutes long.

() At what time did the programme end?

Mumtaz started to watch this programme at 18 34
(i) How many minutes of the programme did Mumtaz miss?

....................... minutes
(Total 3 marks)

[Hegarty 874

Suha walked 7 km from her home.
She then had a rest.

Suha then walked home.

Here i s Suhaodos travel graph.

F
8
7
6
5

Distance

from home 4

(km)
3
2
1
0 »
2 pm 3 pm 4 pm 5 pm 6 pm 7 pm

Time of day
(&) What time did Suha leave home?

1)
(b) How long did Suha rest for?
(1) .....
(c) What time did Suha start to walk home?
(d) Work out the total time that Suha was away from home. ...........cccccooeeeviiiiinnnnn. h(Ol)Jrs
1

(Total 4 marks)




Week 4

WEEK 4 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer Q | Question Answer Q | Question Answer
1 13+2 il | w207 =1 ) 1 | What is 3/9 of 547
2 |o+25=100 2 |6+3=n0 2 | 964 x9
3 | What is half of 3 |3xp=21 3 | 1444 — 982
87
4 |56+0=8 4 | 3.2x825
4 | 150-10
5 [10x9=n 5 | 8/10 as a decimal
5 [191+0=210 number
6 |30+10=n
6 |97 =60+D & | B2.23 +7.27
7 |ox4=16
7 |135-132 7 | 36 +(-6)
8 |lo+9=6
8 |5x8=40s0 8 |[Fa=1b=3andc=4,
40+5=n 9 |10x8=0o what is the value of
B ab*?
9 | Write 20:11 in e
9 | 10-(9
12 hour clock Total out of 10 i
format
10 | Is 5 a factor of 217
10 | 07:52 is how
many minutes Total out of 10
after 07:06?
Total out of 10




SESSION 2- Calculator

1. [Hegarty 52] Write 0.013asa fraction.

(Total 1 mark)
2. [Hegarty 693 Changes.4 centimetres into millimetres

(Total 1 mark)
3. [Hegarty 829-83]] Here is a cuboid.

How many vertices does the cuboid have?

4. [Hegarty 102] Find the value of 7

eéeéeé
(Total 1 mark)

5. [Hegarty 485487, 812

Diagram NOT
D accurately drawn
X 38°
A B C
ABCis a straight line.
AngleBCD = 38°
The reflex angl®8CD = 250°
Work out the size of the angle marked eeéeéeéeé.

(Total 4 marks)



6. [Hegarty 919-921]
Here are some patterns made from triangles.

a8 8 &

Pattern Pattern Pattern Pattern
number number number number
1 2 3 4

(&) Complete the table.

Pattern number 1 2 3 4 5
Number of triangles 2 4 6
1)
(b) How many triangles are needed for Pattern number 127
1)
Luke says that Pattern number 40 has 82 triangles.
(c) Luke is wrong.
Explain why.
1)

(Total 3 marks)




Stretch 1

WEEK 5 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer Q | Question Answer Q | Question Answer
1 |o+9=10 1 1 7x10=n 1 | What is 25% of £1907
2 | What is double 2 |121+3=n 2 | 6146 +7
67
3 |3x0=18 3 | 4+5x1
3 | Halve 24
4 | 5+0=1 4 | 4622 +5
4 | 143 + 60
5E|1x2=no 5 [ 1000 x 0.64
5 | 94+ 97
6 |30+3=0 6 | 69.12 -9.2
6 |41+10=41+ _ Tl
7 |ox2=8 7 | Write 35/49 in its
?+0 I
I simplest form
7 [1+700 il il
8 | 10-10
8 |31+47=30+ il il Ak :
40 + 0 R &S L Value of the dot?
L]
i Wl;at Is double Total out of 10
567 12 15
i ‘:\ihat bl 10 | What is the lowest
i common multiple of &
Total out of 10 and 87

Total out of 10




SESSION 2- Non-Calculator

1. [Hegarty 695] Change 7800 grams inkilograms.
eeééééékilograms

(Total 1 mark)

2. [Hegarty 55| Write 0.07 as a percentage
eéeéeéen

(Total 1 mark)

3. [Hegarty 56] Write 7.8365 correct to 2 decimal places.
eéeéeée

(Total 1 mark)

4, [Hegarty 102 Wor k ot (15)

///////

eéeéeée
(Total 1 mark)

5. [Hegarty 377]
Here is a Venn diagram.

(Total 3 marks)




[Hegarty 13
Here are four digits.
8 2 4 3
(@ (i) Use two of these digits to make the smallest possibledtgibnumber.

2
Here are four different digits.
5 1 7 9
(b) (i) Putone digit in each box to k®the largest total.
You may only use each digit once.
+
(i) Write down the total.
2

(Total 4 marks)

[Hegarty 199]

(a) Write down the coordinates of poiAt

(b) On the grid, mark with a cross (x) the pdin3, 0).
Label this poinB.
1)

(Total 2 marks)



